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3 The passage contains four paragraphs labelled A—D. Which paragraph Grammar

contains the following information? You may use any letter more than

once. 3 TF7 Cause, purpose and result
EXAMPLE: a similarity between this city and another one. ...C.. =
1 a description of how roads are arranged ........ : G STUDENT’S BOOK page 138
2 the possibility that famous representations may be of a building in
this city ..... 6 Complete each sentence with one of
3 areference to activities that no longer take place in a certain the words or phrases in the box.
building ...
4 the reason for establishing this city ........ because because of
5 a potential disadvantage for the tourist industry ... so that SO
6 a reference to a name that has come back into use ........

1
Vocabulary

4 Find the word in the reading passage that matches each definition.
The definitions are in text order.

1 alarge increase, particularly in economic activity ...
2 in a style that has continued for a long time
without changing
an object or person that is represented by an artist ... C3
brought into existence, set up
a pattern of horizontal and vertical lines crossing
each other to form squares
6 dug (a hole or channel in the ground)
7 look or be like something else
8 in a particular place
9 choosing as its own O
10 dividing into parts

Ul W W

5 Complete each sentence with the word from the box that best suits
the meaning. More than one answer is possible in some cases. Pay
attention to any preposition after the space. o ; 5

amazed amused astonished bored excited
fascinated frightened interested surprised 6
terrified thrilled

1 I'saw a cat trying to catch fish in the canal, and I was so
............................... I started laughing. o 7
2 1thought Helen was on the other side of the world, so T was
............................... to see her in Shanghai.
3 Takuya is VETY ..csmrcncn in the history of Topkapi Palace, so he
has bought a book about it. 8
4 Juan has got the whole day free, but he can’t think of anything to
do, s0 he’s ... . :
5 The side of the bridge had been damaged, and Brad was o 9
............................... that a child might fall into the river. '
6 Tania was .o with her prize of a round-the-world trip,
because it was something she’d always dreamed of. - 10
7 Hasan couldn’t take his eyes off the people dancing in the street,
he Was SO ..o by them.
8 The band gave such a fantastic performance that the crowd became
more and MOre ... , and started dancing and cheering.

Shanghai doesn’t have many
historic attractions,
............................... not many tourists
realise what an interesting city
it is.

There are now a great many
high-rise buildings in
Shanghai ... the
recent construction boom.

An old teahouse in Shanghai is
a popular place to visit
............................... it might have
inspired the famous ‘willow
pattern’ design.

The main government
building in Buenos Aires has
been painted pink, and
............................... it is now known
as la Casa Rosada — the Pink

House.
A lot of people visit Buenos
AITES oot they can

learn the tango.

The weather is warmest in
Buenos Aires in January and
February ... the city
is in the southern hemisphere.
The site of St Petersburg was
chosen ... ships
could sail between the city and
western Europe.

St Petersburg is known as ‘the
Venice of the North’

et

............................... its canals.
Istanbul is over 2,600 years
Old, oo it is much

older than St Petersburg,

The Grand Bazaar in Istanbul
attracts plenty of tourists
............................... the large number
of shops and restaurants it
contains.

CITY ATTRACTIONS 9
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Grammar

Relative clauses

5

G ----- » STUDENT’S BOOK page 139

2 In the advertisements above there are six relative
clauses introduced by who, which or that.
Underline those words, and decide whether the
clauses are defining or non-defining.

3 There are two other forms of who: whose (the
possessive form, similar to my and his) and whom

(which normally follows a preposition). The passage

that follows is part of an article about advertising
techniques. For each space, choose the right word

from the box. In some cases, there is more than one

possibility. There is an example to help you.

that which who whom whose

B

How advertisers make
you buy

Are you one of those people 0 ... Whose
expenditure is greater than their income? If so,
read on — you might find out why you spend so
much on goods 1 ... you don't really
need.

One of the most common techniques with

2 s advertisers try to persuade you to
buy their products is for a person 3 ...
name and face you know well to tell you that
they can’t live without that particular product.
These celebrities, most of 4 ... can
hardly need the money 5 .............ccc..... they
receive for it, may endorse the most unexpected
products — like the footballer 6 ...
appeared in an advertising campaign for
packets of snack food.

Another common style is the advert in
A we're told that everybody else has
already bought the product, so you'd better
hurry if you don’t want to be the one person

8 e, doesn’t have it. This high-pressure
approach generally works because it's difficult
for you to find out whether or not the product is
really selling well. You have to take the
advertiser’'s word for it, 9 ... means
you're at their mercy. Adverts using this technique
often tell us to ‘hurry while stocks last’ or give
the date when the ‘special offer’ ends.

4 Relative pronouns can be omitted when they are

the object in a defining relative clause:

The advertising is about the benefits (which/that) we
hope to gain.

In the passage in exercise 3, the relative pronoun
can be omitted from two spaces. The first one is
number 1. Which is the other one?

The relative pronoun and the verb be are often
omitted in front of the -ing and past participle
forms of verbs and in front of adjectives. Put a line
through those that can be omitted.

EXAMPLE: The agency whieh4s running the fruit
juice campaign is a very small company.

1 The new commercial for fruit juice, which was
first shown on TV last month, has led to a jump
in sales.

2 The advertising agency that was responsible for
the fruit juice campaign won an award.

3 Newspapers, which first appeared in England
around 1622, transformed advertising.

4 Adverts that were missing from early newspapers
were ones for household goods.

Vocabulary

6 Answer these questions with phrases from the

advertisements on page 16. Each answer contains
an adjective made up of two or more words joined
with hyphens.

EXAMPLE: Which words describe the length of a
Competltlon? H'Ie 12 -minute contest

Which words ...
1 mean people who share similar interests?

2 describe the way in which places are allocated to
spectators?
3 refer to a period of belonging to an organisation?

4 mean that you do something yourself?

5 refer to a place where you collect and eat food?

6 explain what happens in a competition?

7 suggest the different ages of people who belong

to an organisation?
8 give something’s age?
9 mean a time that has finished?

Apart from the hyphen, what other difference is
there between 12 minutes and (the) 12-minute
(contest )2 One of your answers should follow the
same rule: which one?

SELLING DREAMS? 17
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2 Do the following statements agree with the -, 7.
information given in the article? -+ TF1 -

s e e e e frOM TEIES2.00M

Write e .

TRUE if the statement agrees with the
information

FALSE if the statement contradicts the
information

NOT GIVEN (if there is no information on this

1

2

The ice cores need to warm up before they are
sent to scientists. ;
Scientists have found similar levels of methane
and carbon dioxide in the ice cores.

The previous ice ages were brought about by
abnormal weather conditions.

Global warming is universally believed to be a
bad thing for the Earth.

Eric Wolff believes there will be another ice age at
some point in the future.

3 Which definition, a or b, best matches the following
words or phrases as they are used in the text?

EXAMPLE: retrieving (line 9)

a(bringing out) b saving
inhospitable (line 26)

a unwelcoming b unsociable
heading for (line 33)

a starting at b going in the

direction of
brought about (line 34)
a happened b
are set to (line 40)
a are likely/certainto b

created

are programmed to

5 stable (line 44)
a unchanged b firm
6 averts (line 46)
a prevents b moves
7 misguided (line 48) o
a misunderstood b mistaken
Grammar
- STUDENT’S BOOK page 140

Noun/verb agreement

4 The Cambridge Learner Corpus tells us that IELTS
candidates find the agreement of verbs, nouns and
determiners (the/ any, etc.) difficult. Correct the
following errors from IELTS scripts. There may be
more than one error. e

1 One of the factories near me are causing a lot of

problems.

2 Many things worries me about what are

happening to the environment.

10

Every things in the town were hidden in thick
smog.

There is many advantage to using solar power.
A number of problem has arisen recently in
low-lying towns.

Another thing to mention are that we need to
plant more trees.

Every countries has problem with a lack of fossil
fuels.

These thing is now being used to make all kind
of products.

A lot of thing to remember are that children
needs a safe world to grow up in.

All kind problem will happen if the government
don’t do something soon.

Countable and uncountable nouns

5 Complete the following sentences with much,
many, few or little.

1

2

10

The sea level is rising. We haven’t got

A5 o 2 research was done on climate
change before 1950.

‘How much work have you done?” “Very
............................ , I'm afraid.

There 1St oo news from the project
manager this week.

............................ scientists are finding it hard to get
funding these days.

How . research activities are you
involved in?

There’s Very ... accommodation
available at the research station.

We haven’t had ... good weather
recently — very ... sunshine.
............................ people have heard of the ice-core
drilling project.

There’s Very ... time left before our

climate changes for good.

Vocabulary

6 Unjumble these words to do with the environment.
EXAMPLE: UPTLLNIOO P.ollution..
1 GDEREANEND PEECISS E S
2 GCCYNLERI | XU
3 LLBAGO GRWAIMN G W
4 BOACNR XIODEID C D
5 EENHGUSROE SSGEA G G
6 CEI GAES I A
7 IMTAECL EGACNH C C
8 EAS EELVL S I

CLIMATE CHANGE {_
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Vocabulary

2 The words in the box are related to ones in the
reading passage in 16.1 of the Student’s Book. Use
them in the correct form to complete the sentences
below. A brief definition is given in italics.

abstract alphabetical combine
communicative evolve indicate
modify predecessor regular
representational significant unrelated

1 English spelling has ... over a period

of about 1,300 years. (develop)

2 One category of Egyptian hieroglyphs ...
what type of meaning a word has. (show)

3 The vast majority of Chinese characters are very
..................................... , and so it is impossible to guess
their meanings. (non-realistic)

4 When the Latin alphabet was adopted for Turklsh
in 1928, it was partially ... so that all
the sounds of the language could be represented.
(adapt)

5 Letters are used for the sounds of a language that
ATE vt for distinguishing between
words, for example, fed and red. (important)

6 Finnish spelling is much more ...
than English. (consistent)

7 The sign ‘No dogs allowed’ consists of a fairly
..................................... image of a dog, with a diagonal
red line that symbolises prohibition. (pictorial)

8 The Egyptian hieroglyphic system was a far more
effective means of communication than its
..................................... . (the one that it replaced)

3 Write these words under the verb that they are
more likely to follow.

abeek a (book) review a dissertation
an email an essay an experiment
an investigation a letter a report
research a survey a threat a thesis

to write
a book

to carry out

4 Complete these sentences with words from exercise

3
1

. In some cases, more than one answer is possible.
The museum asked the police to carry out a
detailed ... into the disappearance of
some valuable books.

A telephone ... of 1,000 people
showed considerable support for the idea of
simplifying spelling.

When Jane wrote up the results of her
..................................... , she realised that some of her
claims were contradictory.

4 1 found that another student had chosen the

same research topic for her ... ;501
had to change my focus.

The college has just issued its annual
..................................... , which shows a major investment
in equipment for the library.

6 Dr Barton was delighted to read a favourable
..................................... of his new book in a leading
journal.

Grammar

Non-finite clauses

# STUDENT’S BOOK page 142

5 Rewrite each pair of sentences as one sentence, using
one of the words in the box and a non-finite verb.
This will help you to write in an academic style.

after  before for while

by  despite

EXAMPLE: Sacks sets out to educate and entertain us.

His method is to explore both the history
and the modern signiﬁcance of each
letter.

+ . Sacks sets outtoedacateardentafam
us, by exploring both the history ard the
modern sigrificance of each Lletter.

I recommend that you read this book. Then you
should write your assignment about the Roman
alphabet.

I only managed to finish the book before the
deadline. I read it without stopping.

Writing a book review is a useful tool. It helps
you to think carefully about what you have read.
I enjoyed reading Letter Perfect. This was even
though I found it repetitive in places.

I read Letter Perfect. 1 then understood much
more about the alphabet.

Many readers will be irritated by some parts of the
book. At the same time, they will enjoy other parts.
They are related. However the Latin and Arabic
alphabets are very different from each other.

BOOKS, WRITING AND SIGNS {
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Writing workout 4: Style in essays

General Training and Academic WritingTask 2

1 Which of the following would you not expect to
find in a formal essay? :

a idioms

b collocations

¢ contractions

d colloquial language / slang

e very strong personal opinions / aggressive language
f abbreviations

g an impersonal style

The following sentences all contain errors of style.
Say which errors (a—g) from exercise 1 apply to
each. There may be more than one.

EXAMPLE: Iam absolutely against the government
putting out ads telling me what to do.
d (colloquial language: putting out)
g (abbreviations: ads = advertisements)

1 People insist on driving gas guzzlers.

2 The reason global warming is getting worse is
because some countries didn’t sign the Kyoto
agreement.

3 We'll soon all be freezing to death if the Gulf
Stream changes direction.

4 We should take advantage of the availability of
free resources, e.g. waves and wind.

5 Some people haven’t a clue about the
consequences of carbon emissions.

6 It is no good going by bicycle once in a blue
moon; you need to be properly committed to
alternative transport.

7 1t’s really great that the media are giving this
problem so much coverage.

8 Governments should have a get-together to talk
about the problems we face.

Rewrite the sentences in exercise 2 using the
phrases below. You may need to make changes to
the rest of the sentence to make it more

~ formal/appropriate.

“a Itis clearly beneficial that

b have little idea about

¢ such as

d cars which use a great deal of fuel
e suffering from intense cold

f It can be argued that

- g high-level discussions

h occasionally

—} WRITING WORKOUT 4: STYLE IN ESSAYS

4 Some of the phrases in exercise 3 are collocations.

clearly beneficial
suffer from cold
intense cold
high-level discussions

Using collocations shows you have a good level of
English. Complete the sentences below with the
following adverbs to form the correct collocation.
There may be more than one answer. Use an
English-English dictionary to help you.

clearly  densely dramatically heavily

inevitably  repeatedly  seriously  wildly

1 The minister was ... criticised for not
doing enough to promote alternative energy.
2 The figures for the factory’s carbon emissions

proved ... inaccurate.

3 The reasons why the oceans are becoming more
acidic are Not ... understood.

4 Experts have ... warned the

government and industry of the effects of using
carbon-based fuel.

5 There is no doubt that sea levels will rise

6 Our exp101tat10n of 01l e threatens
the environment.

7 Some cities will suffer more than others, especially

ones which are ... populated.

8 If we continue to drive larger and larger cars,
this Will e result in more and more
pollution.

9 The prime minister had ... got his
facts wrong.

10 T have .. written to the government

to complain about what is happening.
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2 Each sentence contains an incorrect word. Replace
it with the correct one. Use an English-English
dictionary to help you.

EXAMPLE: Simon studied Ecenromie at university.

1

2

10

11

12

13

14
15

16
17

18

19

20
21
22
23
24

Economics

The class spent all yesterday practicing for the
marathon.

Take my advise, choose a sport which is less
competitive than tennis.

Salaries of sportsmen and women have raised
considerably in the last few years.

The team will loose next Saturday.

The football court was too hard to play on.
The total amount of people who support
football in this town exceeds 100,000.

You need a coach to give you the knowledges
you need to succeed at this sport.

Most coaches do more harm than benefit when
it comes to training. ;
The standard of life in some countries is very
low.

My personal assumption is that sport plays an
important part in daily life.

You will have the possibility to speak to him
later.

Some sportsmen and women earn a good
currency from their sport.

I saw an advertising for the Olympics last week
on TV, : N
The most popular consumer good is the trainer.
The learning of computers should begin at
school.

She studied in an English-speaking ambience.
The least popular homework is washing the
windows.

She took a part-time work at the local sports
centre.

I hope you have a good travel to the
competition.

Youth people today love athletics. "= -

Where do you buy your cloths?

Don’t touch the buttons of the computer.

I have no choose in the matter.

There are quite a few sports exercises available
at the centre.

WRITING WORKOUT 5: WRITING CORRECTLY IN ESSAYS

3 IELTS candidates often have problems with
prepositions. Correct the preposition in each
sentence below.

1

2

[= WS

10

11

- 12

I’m really grateful for everything they did to me
at college.

During the period of 1989 and 2001, public
services declined.

My brother is responsible of training in the
company.

The government will prevent people to getting
jobs without a work permit.

I haven't seen you from a long time.

The goods won't arrive here since the weekend.
The magazine is the least effective medium to
communicating news.

There is a high demand of electricity in the
evenings.

Through the Olympics in Greece, everything
ran smoothly.

There was an advertisement of a job at a local
restaurant in the paper.

Learning about computers should be
compulsory on primary school.

I look forward for hearing from you soon.

4 Write out the jumbled text in the correct order. The
first part is in bold.

1
2

3

RN

\O

10
11
12
13
14

15
16

with a computer every day whether

there are undoubted benefits to the use of
computers,

computers at work, in the home, to pay our
bills, to buy books

The computer is an important invention and it
although

only that, people who

or to plan our holidays. We have dealings

has had a huge impact on our lives. We use
savings could be deleted. Not

bank online are more likely to have

we know we are doing so or not. However,

that, if something goes wrong, our

knows that the banks use computers to

process transactions. All our accounts are
computerised, with the result

their accounts hacked into illegally.

there are also some drawbacks. In the first place,
everybody
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Reading module

Advice on tackling the Reading Module

The Reading Module as a whole

Spend 60 minutes on the Reading Module, without any breaks.

Spend no more than 20 minutes on each passage. If you spend longer on the
first one or two, you won’t be able to finish the third.

You must write your answers on the Answer Sheet (see page 64). There is no
extra time for doing this. You can write on the Question Paper, but make sure
you copy your answers accurately onto the Answer Sheet within the 60 minutes.
Remember that each question gives you one mark, so don’t spend a long time
on a single question.

As far as possible, give an answer to every question.

Remember that you don’t need to understand every word.

Each reading passage

If there is a headings task, it will appear before the passage. Read it quickly
before reading the passage.

Read the title and spend about two to three minutes skimming the passage.
Mark important information, such as the main point in each paragraph (often
in the first sentence of the paragraph). This will help you to find the relevant
part of the passage for each task and question. Ignore details.

Don’t worry if you find the passage difficult to understand. You'll probably
understand more of it when you try to answer the questions.

Look at the first task. Read the instructions (rubric) carefully and underline
important information, such as the maximum number of words to give.
Advice on each task type is given in the Test folders in the Student’s Book.

If you are not sure of an answer, write possible answers, then go on to the
other questions in that task. When you have finished the task, go back and
choose one answer to each question.

Check that you have followed the instructions, such as giving only one answer
or writing no more than three words.

If you have spent 20 minutes on the task without finishing it, try and give a
possible answer to each question.

If you have written on the Reading Module, copy your answers onto the
Answer Sheet before going on to the next passage.

_} READING MODULE




READING PASSAGE 1
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You should spend about 20 minutes on Questions 1-13
which are based on Reading Passage 1 below.

A

The Chinese admiral-explorer of the 15th century

Zheng He was born around 1371, to a Muslim family in China’s
southern Yunan Province, just north of Laos. When he was ten
years old, he, along with other children, was captured by the army,
and three years later he became a servant in the household of the
Chinese emperor’s fourth son, Prince Zhu Di.

He proved himself to be an exceptional servant, becoming skilled
in the arts of war and diplomacy and serving as an officer of the
prince. Zhu Di became emperor in 1402, and a year later, he
appointed Zheng He to the high military position of admiral and
ordered him to oversee the construction of a Treasure Fleet to
explore the seas surrounding China.

The first Treasure Fleet comprised 62 ships. The four flagships were
huge wooden boats, some of the largest ever built in history: they
were approximately 120 metres long and 50 metres wide. The fleet
assembled at the capital, Nanjing, on the Yangtze River, and
included 100-metre-long horse ships that carried nothing but
horses, water ships that carried fresh water for the crew, troop
transports, supply ships and war ships for offensive and defensive
needs. The ships were filled with thousands of tons of goods to
trade with others during the voyage. In the autumn of 1405, the
fleet set sail with 27,800 men.

The fleet used the compass — invented in China in the 11th
century — for navigation. Marked sticks of incense were burned to
measure time. Latitude was determined by monitoring the North
Star in the Northern Hemisphere or the Southern Cross in the
Southern Hemisphere. The ships of the Treasure Fleet
communicated with one another through the use of flags, lanterns,
bells, carrier pigeons, gongs and banners.

The destination of the first voyage of the Treasure Fleet was Calicut,
known as a major trading centre on the south-western coast of
India. The fleet reached Sri Lanka and India in 1406, and stayed
there for several months, carrying on barter and trade. The following
spring, the seasonal change in direction of the monsoon winds
enabled the ships to sail towards home. On the return voyage, the
Treasure Fleet was forced to battle with pirates near Sumatra for
several months. Eventually Zheng He’s men managed to capture the
pirate leader and take him to the Chinese capital Nanjing, where
they arrived in 1407.

READING MODULE

55



<+ fromielts2:eom- -

F A succession of other voyages followed, back to India and Sri Lanka,

to the rich city of Hormuz on the Persian Gulf, and along the east
coast of Africa, almost as far south as Mozambique. During each of
Zheng He's voyages, he encouraged diplomats from other countries
to travel to China, either aboard his ships or on their own vessels.

Emperor Zhu Di died in 1424 and was succeeded by his son Zhu
Gaozhi. The new emperor cancelled the voyages of the Treasure
Fleets and ordered shipbuilders and sailors to stop their work and
return home. Zheng He was appointed military commander of
Nanjing.

The leadership of Zhu Gaozhi did not last long, as he died in 1426 at
the age of 26. His son — and Zhu Di’s grandson — Zhu Zhanji became
emperor. Zhu Zhanji was much more like his grandfather than his father
was, and in 1430, he restarted the Treasure Fleet voyages by ordering
Zheng He to resume his duties as admiral and make a seventh voyage,
in an attempt to restore peaceful relations with the kingdoms of
Malacca and Siam. It took a year to gear up for the voyage, which
departed as a large expedition with 100 ships and 27,500 men.

Zheng He is believed to have died in 1433, on the return trip,
although others claim that he died in 1435 after the return to China.
Nonetheless, the era of exploration for China was soon over, as the
following emperors prohibited trade with foreign countries and even
the construction of ocean-going vessels, thus ending an era of trade
and exploration.

It seems likely that a detachment of one of Zheng He’s fleets, though
not the admiral himself, sailed to northern Australia during one of the
seven voyages. The evidence lies both in the Chinese artefacts found
there and in the oral history of the native Australians.

56
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Questions 1-5
Reading Passage 1 has ten paragraphs labelled A—J. Which paragraph
contains the following information?

Write the correct letter A—J in boxes 1-5 on your answer sheet.

a summary of journeys to various places
examples of equipment used during voyages
speculation concerning a possible destination
details of the composition of a fleet of ships
how the weather affected the timing of a voyage

N bW N =

Questions 6-9

Complete the sentences below with words taken from Reading Passage 1.

Use NO MORE THAN TWO WORDS for each answer.
Write your answers in boxes 6-9 on your answer sheet.

The first treasure fleet
The ships carried a large quantity of ............ which were to be sold.
The sailors used the night sky to calculate the ships’ ... .
The fleet sailed to an important ... in India.
While returning to China, the fleet was attacked by ... .

O oo~N®

Questions 1013
Complete each sentence with the correct ending A-G from the box below.
Write the correct letter A~G in boxes 10-13 on your answer sheet.

10 Zhu Di .. .

11 Zheng He ... .

12 Zhu Gaozhi ... .

13 Zhu Zhanji ... .
A travelled to Australia.
B ended trade with other countries.
C ended the construction of ships.
D took children away from their homes.
E wished to end hostilities between China and certain other countries.
F made contact with foreign diplomats.
G ordered ships to be built.

READING MODULE
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The evacuation of St Kilda

A StKilda is a tiny archipelago at the mercy of the

storms of the North Atlantic Ocean. The islands are
among the most spectacular in Scotland. But the
greatest fascination is that, for over a thousand
years, people lived there. Cut off from the mainland
for most of their history, the islanders had a distinct
way of living their lives, mainly eating the tens of
thousands of seabirds that returned year after year
to breed on the rocks. Their self-sufficiency meant
that throughout their history, they possessed a
sense of community that was rare in the modern
world. ~

The St Kildans led a lonely life. They had more in
common with the people of other isolated islands,
like Tristan da Cunha, than they ever had with
fellow Scots living in the cities of Edinburgh or ..
Glasgow. Isolation had a big effect upon their
attitudes and ideas. The people sacrificed
themselves year in and year out, in a constant
battle to secure a livelihood for themselves and the
rest of the community. In such harsh conditions, life
was only possible because the whole community
worked together.

For centuries, the world outside ignored the people
of St Kilda. They were content on the mainland to
allow such a remote community to go its own way.
As long as the people of St Kilda were so isolated,
they were insulated from the forces that wished
them to conform. This changed in the 19th century,
when St Kilda was subject to pressures from the rest
of the country. Education, organised religion and
tourism all attempted to throw into doubt the St
Kildans’ way of life. Help, as interpreted by the
articulate spokesmen of the richer and more
advanced society on the mainland, was best given
by persuading the islanders to give up the struggle.

In the early 20th century, the strength of the
community became weakened as contact with the
rest of Britain increased. When disease decimated
their numbers, and wind and sea made it difficult
to get adequate supplies of food, the St Kildans
were forced to turn to the mainland for assistance.
However, many on the British mainland, including
the government, believed that agreeing to the St

Kildans' requests for a nurse and a postal service
would be a waste of money. More fundamentally, it
was thought that if the St Kildans could not adapt
and accept the values of the dominant society, the
only solution was to evacuate the islands.

In 1930, the St Kildans finally agreed to abandon
their homes. They settled on the Scottish mainland,
not realising that it meant throwing themselves into
the 20th century. As adults, they had to accept
those values that most Scots are taught to believe
in from birth. For instance, the islanders found it
difficult to base their existence upon money. They
had never lived in a world in which they bought
goods and services from each other. They had, of
course, accepted gladly the opportunity of making a
little money for themselves at the expense of
tourists, but that intrusion had never altered the
basic relationship one St Kildan had had with
another.

The islanders showed themselves indifferent to the
jobs they were given on the mainland. The labours
asked of them were unskilled contrasted with the
spectacular feats they had once performed in order
to kill seabirds. Moreover, while they had been
living on the islands, killing birds had directly
provided the community with food to survive. On
the mainland, on the other hand, the tasks that
they were asked to perform did not provide them
immediately with what was needed to keep them
fed and warm. There was an intermediate step:
employment provided money, which in turn made it
possible to purchase the necessities of life.

The history of the St Kildans after the evacuation, of
their inability and lack of resolution to fit into urban
society, makes sad reading. If St Kilda had been an
isolated home, the islanders were to discover that
the remote district of Scotland in which they were
settled was even more alien. On St Kilda, at least
they had formed a tightly-knit community with a

_ common purpose. When they were resettled on the

mainland, the St Kildans were forced to live in

" homes far apart, in a society whose values were

unacceptable, if not incomprehensible, to the

Z majority of them. For many, the move was a tragedy.

READING MODULE (
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Questions 20-22

Choose THREE |etters A—H.
Write your answers in boxes 20—-22 on your answer sheet.

Which THREE points are made about how people used to live on St Kilda?

The chief source of food was found locally.

It was essential for people to help each other.

Very few people had visited mainland Scotland.

The people had a different religion from the majority of Scottish people.
The people wanted a more advanced way of life.

The homes were unsuitable for modern life.

Money played an insignificant role in life.

The people disliked visits by tourists.

IOTMMOUO D>

Questions 23-26

Complete the summary below. : o
Choose NO MORE THAN ONE WORD from the passage for each answer.
Write your answers in boxes 23—26 on your answer sheet.

The twentieth century

In the early 20th century, the islanders had more 23 ... with the rest of
Scotland. The number of inhabitants fell because of 24 ... , and bad
weather led to shortages of 25 ...... ... Many people on the mainland were
unwilling to spend money on a 26 ... or other services for St Kilda.

Question 27
Choose the correct letter, A, B, C or D.
Write your answer in box 27 on your answer sheet.

Which of the following is the most suitable subtitle for Reading Passage 27

A The role of money in modern communities 7
B How a community adapted to a different form of life , R
C The destruction of an old-fashioned community

D How a small community resisted government plans

60 READING MODULE



from ielts2.com



from ielts2.com

environment, as when a bird squawks at the approach of a cat. Such
noises are analogous to human cries of pain or alarm, not to the
sentences we produce. Nothing in my environment ‘stimulated’ me
to write down the sentence I just wrote down. In the light of this, it
is easier to understand those followers of the French philosopher
René Descartes who found it impossible to suppose that animals
could be capable of any mental activity. ‘If beasts reasoned, said one
of them, ‘they would be capable of true speech with its infinite
variety, We might not want to go as far as that, but at least we must
admit that speech is one, if not the, salient feature of human nature
which distinguishes it from any other sort of nature.

Not only is language our most sophisticated, important and unique
possession, it is also, remarkably enough, an almost universal human
possession. As already mentioned, all known human societies have
possessed a language, whatever else each of them may have lacked.
Not only that, but whereas there are mathematical geniuses and
chess-playing geniuses, when it comes to language, nearly all of us
are capable of producing and understanding an infinite number of
sentences.

Language is also remarkable in its versatility. By uttering the
appropriate noises, in the right circumstances, a single person in a
single day can easily do each of the following: inform others of
what is happening, ask them to do something, command them,
excite them, promise them, insult them, express anger and get
married. As some of these examples show, we do not in general
utter noises as an activity separate from other activities. We perform
actions with words, actions which it would be difficult,
inconvenient or even impossible to perform without words.The
number of such possible actions is indefinitely large. ’

62
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Questions 28-33
Do the following statements reflect the claims of the writer in Reading Passage 37

In boxes 28-33 on your answer sheet write

YES if the statement reflects the claims of the writer
NO if the statement contradicts the claims of the writer
NOT GIVEN if it is impossible to say what the writer thinks about this

28 Grammarians now have a thorough understanding of their subject.

29 Even the least developed communities have complex languages.

30 Certain noises that animals make can be classified as language.

31 Certain human cries have something in common with animal communication.
32 People who are good mathematicians are likely to be good at chess.

33 Talking usually forms part of a wider activity.

Questions 34-37

Complete the notes below.

Choose NO MORE THAN ONE WORD from the passage for each answer.
Write your answers in boxes 34-37 on your answer sheet.

Characteristics of human beings:
® unlike animals, able to use language and to 34 ...
® far more capable than animals of manipulating 35 ... and organising
politically . :
Characteristics of animals:
® cannot create 36 ... of noises '
® only make sounds in reaction o 37 ...............

Questions 38-40 e o . ,
Look at the following people (Questions 38-40) and the list of claims below.
Match each person with the claim credited to them.

Write the correct letter A—F on your answer sheet.

38 Herbert Read
39 Wolfgang Kohler
40 a follower of Descartes

List of Claims

Attempts o understand the nature of language require objectivity.
Computers will soon use language as skilfully as human beings.

More than anything else, grammar distinguishes human beings from animals.
Speaking can be compared with physical activities such as walking.

The inability of animals to speak shows that they are unable to think.

There is no limit to what human beings can say.

TMOOm>»
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Grammar Vocabulary
3 1 The River Nile is considerably longer than the 6 1 spicy 2 sour 3 fresh 4 sweets

River Thames.
2 London is far smaller than Mexico City.
3 Fruit is much better for you than sweets.

5 ripe 6 diet 7 chef 8 bland
9 fast food 10 menu

4 A Rolls-Royce car is a good deal more expensive A|L| K| R]|E @ E | N U) P
than a bicycle.
5 Fast food is more convenient than cooking S| P|IT1T|C|l|Y)N]C|S]|K R)
yourself.
6 Australia is far bigger than New Zealand. N @ Al S| T)|F|O]| O] D)||!I
4 Suggested answers
1 It’s the largest desert (in the world). M| Q @ WIALQVL | T| TP
2 1t’s the longest wall. ~
3 He’s the richest man. o L|R|[R| D|s|)o]U R) £/
4 1t’s the smallest planet.
5 It’s the tallest/oldest tree. - CD L |E E N AWl b cp v N
6 It’s the fastest animal. slullsltly0ell 11 bl &
5 1 Fast-food outlets are open longer than ordinary
restaurants. V| HIIH]| E 7. Ell G ||HI|| H ]
2 I would rather have a sandwich than a pizza. ~
3 The number of people who eat rice is ci{M| Q|G| N||T|lA|lE|]l FI|R
considerably greater than the number who eat
potatoes. B|L|A|N|DWS| X|\F)|cCc|M
4 The amount of meat eaten in the USA is far C ) -

greater than that eaten in China.
OR Far more meat is eaten in the USA than (is
eaten in) China.
OR The amount of meat eaten in the USA is far
more than the amount (of meat) eaten in China.

5 Hamburgers are more popular than noodles in
Europe.

6 Pizza is not as expensive as steak.

7 Producing meat is twice as expensive in some
countries as in others.

8 The number of customers we had today was
much smaller than last night.

7 1 hunger 2 hungrily 3 hunger

4 celebration, celebrity 5 celebrate

6 distinction, distinctiveness 7 distinctively
8 distinguish 9 clean 10 cleanly 11 clean
12 suspicion, suspiciousness, suspect

13 suspiciously 14 suspect 15 warm

16 warmly 17 warm 18 cosy 19 cosily
20 comparison 21 comparative 22 compare
23 politics, politician 24 politically

25 politicise/politicize

UNIT 3

Reading
1 1 D (Istanbul, Turkey)

2 B (Buenos Aires, Argentina)
3 A (Shanghai, China)
4 C (St Petersburg, Russia)

2 1 construction 2 trains 3 grid 4 government

_} ANSWER KEY

5 tango 6 canals 7 capital 8 paintings
9 continents 10 palace 11 market
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3 1 B ... laid out in a grid — that is, most of its streets

are straight, like lines drawn on a sheet of paper
from top to bottom and from side to side.

2 A ... a teahouse that may be the model for the well-

known ‘willow pattern’ design, which is used on
plates around the world.
3 D Topkapi, the magnificent palace, used to have
~over 50,000 people living and working in its
' grounds, and even had its own zoo.
4 C This city was founded ... to increase trade by sea
with western Europe.
5 A Although there aren’t many historic sites to
attract tourists ...
6 C ... it is again known by its original name.

Vocabulary
4 1 boom 2 traditional 3 model 4 founded
5 grid 6 excavated 7 resemble 8 located

9 adopting 10 separating

5 1 amused 2 amazed/astonished/surprised
3 interested (fascinated has the right meaning,
but is followed by by) 4 bored
5 frightened/terrified 6 thrilled 7 fascinated
(interested has the right meaning, but is followed by in)
8 excited

Grammar

6 1 so 2 because of 3 because 4 so :
5 so (that) / because 6 because 7 so (that)/
because 8 becauseof 9 so 10 because of

UNIT 4

Grammar

1

1 Service-oriented companies often give mobile
phones to their sales force.

2 I am writing to tell you that I have become a full-

time student and started my course last week.

Since I was a child, I have wanted to be a nurse.

4 The table shows that the number of students has
risen to over five million since 1980.

5 We haven’t seen each other for a long time, so I
want to meet soon.

6 Correct

7 In this way, I feel I am able to repay the hours
and effort that have been spent on me.

8 In the past decade, computers have become the
most useful tool in offices and factories.

9 This letter is to tell you what I have been doing /

have done recently.

This development has been happening for many

years.

w

10

21

4 don’t have / haven’t
7

1
1
1

31

6 about

have/’ve started 2 am/’m making 3 work
5 practise 6 belongs
play 8 am/'m thinking 9 like

0 are asked 11 have/’ve been practising

2 hope / am/’m hoping 13 has/’s suggested
4 haven’t decided 15 depends

at 2 to 3 about 4 with 5 from -
7 about 8 on

Writing a project takes a lot of reading.

Let’s talk about what you’ve done.

I’m interested in finding out about people’s jobs.
Correct

How do you feel about using a computer?

I’m looking forward to starting a new project.
I'm quite good at finding information on the
Internet.

I enjoy most lessons, apart from history.

9 Children are usually better at learning foreign
languages than adults.

NG W=

[+ ]

10 Next, we'll look at the best way to plan a report.
Reading
6 1 TRUE — A leaflet containing full details is available

2

on request.

NOT GIVEN — The College Charter is a series of
statements which explain what is being done to
promote high standards for people who use College
services. It has been designed in accordance with a
national framework (There is no mention of
consultation.)

FALSE — ... while at the same time being tailored to
meet the specific needs of the College.

TRUE — ... the Principal, who will refer each
complaint to the appropriate member of staff and
then provide a response.

FALSE - Appeals against external examination
bodies must follow their own procedures

TRUE - Smoking is not permitted inside any part of
the building unless specifically authorised.

NOT GIVEN — All accidents must be reported to
Reception (There is no mention of medical help.)
TRUE — If items are damaged or broken as a result
of careless use or failing to follow instructions, the
person concerned will be required to cover the cost
of repairing or replacing the items.

FALSE — They must not be taken into any
examination room under any circumstances.

ANSWER KEY ﬁ_
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UNIT 5

Vocabulary

11a 2j 3f 4g 5h 6i 7d 8¢ 9e
10 b

square
cube

[ 38}
[

2 triangle 3 rectangle
6 sphere ,

4 cylinder

circle (The others have straight sides.)

circle (The others are three dimensional.)
tiny (The others mean ‘very big.)

minute (The others mean ‘not big or small’)
minuscule (The others mean ‘very big’.)

reached 2 carrying out

were evaluated/analysed 4 made
support(ed) 6 analysing/evaluating
performed/carried out 8 put forward

N U W= U W~

Grammar

5 1 had gone 2 (had) arrived; had eaten / ate
3 were passing; caught 4 didn’t enjoy
missed 6 was working; saw; had made
saw; didn’t see; was talking 8 were climbing
had made / made 10 was digging; cut

O N1 W

6 a It has been known for a long time that the
Ancient Egyptians imported copper from Cyprus.

i What historians had not realised until recently was
the threat posed to these imports by aggressive
tribesmen along the Mediterranean coast.

f New research(,) carried out by a team from
Liverpool University(,) has shown how the
Egyptians built a huge fortress on this coast.

d The fortress was built around 1270 BC by
Rameses II, to protect maritime trade.

e The complex covered five acres and was home to
at least 500 soldiers.

¢ The men grew their own food and baked bread, but
imported luxury items such as wine and olive oil.

h As well as a bakery and a palace, a temple was also
discovered.

g It was 20 metres long and ten metres wide, with
three central rooms.

b The fortress was only needed for a brief period —
only 50 years or so — and was abandoned in the
13th century BC. ’

% ANSWER KEY

UNIT 6

Reading
1B
21F 2B 3E

3 1 YES - Both seem a little taken aback by the way
their lives have followed a similar pattern
2 NOT GIVEN - It is not unusual to find twins
have chosen the same careers, but there is nothing
in the text that says it is unusual for twins to reach
high positions. -
3 NO - Career dynasties ... a phenomenon that
occurs in any walk of life.
4 YES - a ready-made set of contacts just waiting to
be networked
NO — Professor Val Dusek is sceptical.
6 NOT GIVEN - Although the writer refers to job
satisfaction, this is not related to people’s
expectations before starting work.

W

Grammar

4 1 hasn’trisen 2 have/’ve been 3 studied; went
4 rang; said; had 5 has never been 6 saw
7 has enjoyed 8 spent

5 1 last saw; ago 2 hasn’t worked; for 3 had; ago
4 has been; since 5 taught; ago; didn’t enjoy
6 hasn’t had; for 7 last went; ago
8 learned/learnt; ago 9 have you been; Since

Vocabulary

6 change, lend, leave, waste, give, pay, invest, spend,
save, make
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UNIT 7
Reading

1

1

1 C Lunch and refreshments are provided on both
courses at no extra cost.

2 B ... reliving that age at various public -
entertainments.

3 A ... this famous annual competition

4 C ... you will learn the basic techniques of driving

a 60-year-old steam locomotive

D ... a fashion show, which features wedding outfits

for brides, grooms, bridesmaids and page boys.

A ... bands, rappers and children’s chorus.

C You are also given one-year membership of the

railway society

8 A Television crews are invited to use a two-tiered
stage 3m from the main stage. The area in front of
the main stage is reserved for still photographers
and television cameras without tripods.

9 B ... to re-create the clothing, weapons, tools,
jewellery, games, food and furniture of that
long-gone period

0 D ... a wide range of specialists will be on hand to
give expert advice on planning your wedding.

Y |

NN

Grammar

21

2

31
5
9

who represent nations from all over the world (A)
Non-defining

which stands at over 50 hot dogs and buns in 12
minutes (A) Non-defining

that was one of the richest trading centres in the
Viking world (B) Defining

during which you will learn the basic techniques of
driving a 60-year-old steam locomotive, under the
eye of an experienced instructor. (C) Non-defining
which gives you the opportunity to become a
volunteer on our educational programme. (C)
Non-defining

which features wedding outfits for brides, grooms,
bridesmaids and page boys. (D) Non-defining

which/that 2 which 3 whose 4 whom
which/that 6 who/that 7 which 8 who/that
which

4 The relative pronoun can also be omitted in number 5.

5 Those that can be omitted:

o1

which was 2 that was 4 that were

Vocabulary

61

like-minded people (B)

2 a first-come-first-served basis (A)
one-year membership (C)

first-hand experience (C)

self-service restaurant (D)

all-you-can-eat contest (A)

a family-based ... society (B)

a 60-year-old steam locomotive (C)

9 that long-gone period (B)

The plural noun (minutes) becomes singular
(minute) in front of another noun.

The other example is 60-year-old (not 60-years-old).

NN W

UNITS8

Grammar

1

1 are you going to celebrate / are you celebrating
2 ’re playing 3 won’t regret 4 ’s

5 ’sgoingto be 6 starts 7 'mflying 8 leaves
9 ’llbe 10 ’m not going to spend 11 ’ll be

12 ’ll send

1 correct 2 more likely to be ’'m going to make /
Im making 3 correct 4 will begin / is going to
begin 5 will/’ll pay 6 correct 7 will be used
8 waste (spend shows that this refers to the present,
not the future) 9 will make 10 correct

1 There may be another opportunity ...
2 ... the weather is (very) likely to be fine. /... it is
(very) likely to be fine.

3 ... they’re bound to be there tonight.
4 ... you probably won’t get tickets.
5 ... there’s a chance of (our/us) winning ... / ...

there’s a chance that we'll win ...

It’s / Tt is unlikely (that) ...

There is / There’s little chance that we’ll ...
I've no doubt (that) this is ...

® NN

Reading and grammar

4 1 vii

2v 31 4vii 51iv

51o0n 2with 3By 4by 5 from 6 of

7 for 8 to 9 for 10 into

UNIT 9
Reading

1

1 1996 2 10cm x 3m 3 Eight
4 about 15,000 years

ANSWER KEY K
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2 1 TRUE - ... they are at a temperature of —50°C. They
are then kept until they reach —20°C when they are
ready to be analysed.

2 NOT GIVEN — We are told about their levels
compared with the past, but not with each other.

3 NOT GIVEN — We aren’t told why the ice ages
happened in the past.

4 FALSE — Some people have argued that human-
induced global warming is beneficial

5 TRUE — ... we would have about another 15,000
years to go before the next ice age ‘

31a 2b 3b 4a 5a 6a 70

Grammar

4 1 One of the factories near me is causing a lot of
problems.

2 Many things worry me about what is happening
to the environment.

3 Everything in the town was hidden in thick smog.

4 There are many advantages to using solar power.

5 A number of problems have arisen recently in
low-lying towns.

6 Another thing to mention is that we need to
plant more trees.

7 Every country has problems / a problem with a
lack of fossil fuel(s).

8 These things are / This thing is now being used
to make all kinds of products.

9 One thing to remember is that children need a
safe world to grow up in.

10 All kinds of problems will happen if the

government don’t / doesn’t do something soon.

5 1 much 2 little 3 little 4 much 5 Few/Many

6 many 7 little 8 much;little 9 Few/Many
10 little ~
Vocabulary

6 1 endangered species 2 recycling
3 global warming 4 carbon dioxide :
5 greenhouse gases 6 ice ages 7 climate change
8 sea level

UNIT 10

Reading

1 1 D whole paragraph
2 F whole paragraph
3 A ego and grandeur still sometimes play a
significant role in the scope of the construction
4 C the development of mass iron and steel
production
5 B the base would take up too much land

m ANSWER KEY

2 1 spread footing 2 (vertical) column
3 cast-iron plate 4 grillage (steel beams)
5 (thick) concrete pad

Vocabulary S
31i 2j 3k 41 5a 6h 7f 8d 9e
10g 11c 12b

Grammar

4 1 (in) decorating 2 to share 3 living 4 moving
5 in buying 6 study;do 7 doing 8 getting
9 interviewing; to ask 10 opening 11 working
12 for keeping 13 to leave 14 to move; to get
away 15 togive 16 smoking 17 to stay
18 tostudy 19 togo 20 atfixing

<

UNIT 11

Grammar

1D

21— 2—- 3—- 4the 5- 6a 7a 8-
9 — 10 the 11 the 12 — 13 The 14 -
15 - 16 an 17 a 18 — 19 the 20 the
21 the/— 22 -

31— 2—- 3a 4the 5—- 6- 7 a 8 the
9 _ 10 - . -
Reading

4 A

5 1 C ... knowledge that will be needed to avoid getting
into trouble. '

2 B ... such as knowing who is dominant to whom,
who is related to whom, and who has done what
to whom in the past.

3 A ... we can easily tell individuals of our own

species apart, and ... the same is true of other

species of mammals.
D ... the production of milk, allowing baby
mammals to have a period of childhood
A Dolphins have their own signature whistles that
act like names
6 C All this remembering goes on in a particular part
of the brain called the neocortex.
7 A When it comes to social behaviour, mammals are
far more highly developed than other creatures.
8 C This area, though, seems to take a long time to
develop fully, and animals in which it is very large
take a very long time to grow up to adulthood.

>

W

6 1 birds/fish 2 fish/birds 3 dolphins
4 Elephants 5 information 6 trust 7 neocortex
8 adulthood 9 relationships 10 milk
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Vocabulary st e

71
4

eventually 2 Remarkably 3 respectively
simultaneously 5 relatively 6 closely

7 highly

UNIT 12
Reading

1C

2 1 physical 2 goals

Concepts such as motivation training, and
relaxation are the basis for strong mental
preparation, whether for a team or an individual
sport, for an amateur or a professional ...

3 need 4 routines

5 team; individual

3 A A good sports psychology consultant can be of great

4 A
51

value for a sportsman or woman. However ... a
large number of these consultants ... fail to reach
the required standard.

in my experience as a sports psychology consultant

NOT GIVEN — They are interviewed in local and
national newspapers and heard on radio shows, and
a surprising number of professional teams use one.
(There is no suggestion that newspapers have
created a demand.)

YES — ... too many professionals in this line of work
are not worth the money they cost.

NO — Numerous examples can be given of
consultants who have the necessary skills without a
certificate from a sports psychology organisation.
YES ~ Some sports psychology professionals ... are
unable to engage in individual counselling for
personal, or life, issues, which is an essential aspect
of the work.

NO ~ I have seen consultants behaying very
unprofessionally, for instance by guaranteeing
results

NOT GIVEN — a client’s decision to change to
another consultant. (There is no reference to the
client’s reasons for changing.)

YES — ... when choosing a sports psychology
consultant, it is important to get information about

- them, for instance from past or present clients.

Grammar

61

71
3
4
5
7

A 2B 3A 4B 58

are taking 2 correct

should not te be encouraged
had better te take

ought not to spend 6 correct
you had/’d better bring

UNIT 13

Grammar

1

1 I can’t decide unless you help me.

2 If I don’t eat cheese, I don't/won’t get fat.

3 If I had gone to Spain, I would have
learnt/learned Spanish.

4 T wouldn’t be unhappy if I didn’t have to make a
lot of choices.

5 AslongasI go to a good university, I will get a
good job.

6 If I learnt to cook, I wouldn’t spend so much in
restaurants.

- 7 If T hadn’t been to a party last night, I wouldn’t

have woken up late this morning.
8 Nick can have the job as long as he learns to
drive (first).
9 If Susanna were here, she would be able to /
could help us.
I wouldn’t have been unhappy if [ hadn’t
married the wrong man.

10

Vocabulary

2

3

1 analysis 2 research/theory/paper 3 process
4 factor 5 paper 6 evidence/analysis 7 theory
8 source

1 satisfaction 2 growth 3 ability 4 politician
5 option 6 tendency 7 decision 8 expectation
9 economist 10 difference 11 government

12 recommendation

4
MY TIHI{EQO|PYT|[I1[OIN)R|E|I]{S
I|O|N|L{GIO[VIE[R|[N[M[E[N|T
Fly|o|N|E|L]|GI|S)O|EYD|A|N|D
FI|H|E|T) I{1I|S|A]O|C|U|IR|L|O
EIXTPIEICUTI AT IO N) R |G\ D
RI| JIE|N| S{IJUJI]S|N|C|H|R] I
E{ls| T(OIE|Cl1][s]I]JOIN)H|O| E
N{ I{S|E|S|I|O|F]|V|M|E|[R|W|E
CllI[{G|N|N[A|M BI[IL[I|T]Y)
lalyllclala)1cls]s|wl1|glL
LIB|E{Y|DIOINIT|ENT) I|N|H|E
A|V|E|[N|A|IN|D|I|O[N|E|A|R|T
H|A|M|E|N|C|W/|O|B|M|M|V]|P|B
RIEJCIOIMIMIEINJDJAIT]|I[O]IN

ANSWER KEY ﬁ—
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5 1 badly 2 highly 3 perfectly/totally 4 totally
5 hardly 6 widely 7 highly 8 widely
1 total 2 smooth 3 stop 4 soft 5 made a/the
1 unanimous 2 obvious 3 snap
4 given/offered 5 spoilt for
8 1 window shopping 2 bargains 3 half price
4 (had) cost a fortune 5 reasonable price
6 trythemon 7 keep the receipt 8 refund
UNIT 14
Reading |
1 clear transparent
a consideration an issue
to create to make
to extract to take out
genuine real
3 1 E ... was so expensive that a law was passed
2 A ... wavelengths enter the eye ...
3 E ... had to be quarried and shipped from
Afghanistan
4 D ... isnot anaturally occurring product. It was

made by the ancient Egyptians

shellfish ... molluscs ... cochineal beetle
slow-drying oil and collapsible tin paint-tubes
Linguistic considerations ...

oil paint could be built up in layers ...
shades of, say, red

The Japanese ... green from blue.
cinnabar ... was mined in Spain ... lapis lazuli
stone, which had to be quarried and shipped
from Afghanistan.

™o O

different

el

Grammar

4

1

712

1 I have experience of/in designing colour
schemes for offices.

2 Can I suggest going (you/we go) to see the
science museum?

3 The interior of the car is designed to improve
driving.

4 Leila learned to use watercolour paints at college.

5 Let Pablo go into the room first.

6 He will be under pressure to meet deadlines and
complete tasks and coursework.

7 You must e go and see the new colours at the
fashion show.

8 In conclusion, studying abroad has fewer
advantages than in this country.

9 To let everyone te know where the talk will be
held, there’ll be a map.

0 She intends going / to go away after term ends.

ANSWER KEY

11 Pete can’t remember getting into the car and
driving to the station.

We prevented to h1m (from) drawing on the
walls.

A lot of time was spent teaching them to write.
Try walking / to walk rather than driving
everywhere if you want to lose weight.

It was years ago, but I'll never forget seeing
Venice for the first time.

You'd better ring up your tutor to tell him you’ll
be late.

Elisa’s interested in doing fashion design next
term.

Remember to post that letter on your way to
work.

Children often dream of/about being football
stars.

You need to give up staying up late watching TV.

12

13
14

15
16
17
18
19

20

Vocabulary

5 1 impatient 2 sensitive 3 appreciative
4 competent 5 independent 6 cautious
7 honest 8 impulsive

UNIT 15‘

Vocabulary

1 1 host 2 complex 3 essential 4 expensive
5 groceries 6 guest 7 adequate 8 observe
9 casual 10 resident
Secret word: hospitable

Grammar

2 1 correct 2 must have spent 3 must be related
4 can’'tbe 5 correct 6 can’t have attended
7 mustbe 8 cantbe 9 can’t be working

Reading

3 1 C ... we create social relations for four main

reasons: to enable us to compare ourselves with
others, thereby reducing uncertainty; to obtain
the reward of stimulating company; to be
valued; and to gain emotional support.

2 E Hospital patients facing an operation the next
day generally prefer to spend the night with
others who have already had the operation and
can provide information about the potential
danger

3 A ... swapping news with your family at the end
of the day, ... gossiping with your friends about
the party you went to last night, ... chatting
with colleagues at the coffee machine
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4 D ... decide, for instance, whether their fear is
justified.

5 F ... people preferred the company of others in
pleasant conditions, ... when feeling happy or in
the work environment. Company was also
preferred in threatening conditions, ... In
unpleasant conditions ... people preferred to be
alone, as they did in conditions requiring them
to concentrate ;

6 E Just as young children refer to their parents for
information in new or ambiguous situations,
adults will also seek out someone with more
information when in difficulty.

7 B From the moment of birth, babies seek to
establish an enduring social relationship with
their main carer, extending their circle of
relationships outwards as skills and
circumstances allow. Later, as their social skills
improve, children modify their behaviour to
others in order to fit in with other people and
gain a sense of belonging.

8 F In one piece of research, people were asked to
specify the conditions under which they would
like to be with others.

9 B This need for belonging can be observed as the
motivation for infants in their earliest
interactions with others.

10 A Imagining this kind of life is so difficult as to be
almost impossible, which neatly illustrates the
importance of social relationships in our lives.

4 1 value 2 motivation 3 operation
4 belonging 5 hospital 6 need
5 1 rules 2 behaviour 3 respect 4 consequences

5 discussion 6 appeal 7 interaction

UNIT 16

Reading

1 1 Letter Perfect 2 David Sacks
3 (written) language 4 casual linguists
5 history 6 significance 7 articles
8 information - 9 repetition 10 uninteresting
11 unscholarly 12 cover; cover

Vocabulary

2 levolved 2 indicates/indicated 3 abstract
4 modified 5 significant 6 regular
7 representational 8 predecessor

3 to write: (a book,) a book review, a dissertation, an
email, an essay, a letter, a report, a thesis
to carry out: an experiment, an investigation,
research, a survey, a threat

4 1 investigation 2 survey
3 research / experiment / investigation
4 thesis / dissertation 5 report 6 review

3

Grammar

5 Suggested answers :

1 Irecommend that you read this book before
writing your assignment about the Roman
alphabet.

2 T only managed to finish the book before the
deadline by reading it without stopping.

3 Writing a book review is a useful tool for helping
you to think carefully about what you have read.

4 1 enjoyed reading Letter Perfect, despite finding it
repetitive in places.

5 After reading Letter Perfect, I understood much
more about the alphabet.

6 Many readers will be irritated by some parts of
the book, while enjoying other parts.

7 Despite being related, the Latin and Arabic
alphabets are very different from each other.

UNIT 17

Vocabulary
11la 2g 3e 4f 5¢c 6d 75D

2 1 feel/ am feeling 2 ’ve/have completely lost
3 caught / came down with (had is also possible)
4 feel / are/re feeling 5 cameoutin 6 had
7 made / hasmade 8 had 9 to getover
10 lost 11 had come down with / had caught (had
is also possible) 12 make

3 1 is/’sdoing 2 ’re/are making / made / have made

3 make 4 made/ makes/ has made
5 has/’s never done 6 ’ll/will do; make 7 do
8 ’sthas done 9 make 10 Do; make 11 made

12 do you make

4 1 regulation 2 regular 3 regulator
4 psychology 5 psychologist 6 consultation
7 consultative 8 consult 9 evolutionary
10 evolve 11 evolutionist 12 variety
13 various, varying 14 communication
15 communicate 16 communicator
17 management 18 manageable, managerial
19 manager 20 destruction 21 destructive
22 destroyer 23 nature 24 naturalist, naturist
25 informative 26 inform 27 informer
28 long 29 lengthen 30 humanity 31 human
32 humanise/humanize

ANSWER KEY ﬁ_
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Grammar

5 1 must 2 mustnt 3 don’t have to .
4 don’thaveto 5 mustnt 6 haveto 7 must
8 had to

1

You must e check whether the electricity is

switched off before you touch the plug.

Everyone needs (to have) electricity today.

3 People must / have to work at least eight hours a
day to qualify as full-time workers.

4 We don’t need any products to help us sleep.

5 We mustn’t take a nap this afternoon as we’re too
busy.

6 How much sleep you need must depend /
depends on how tired you are.

7 They don’t have to / mustn’t rest now.

8 You mustn’t drive when you're tired.

[ 8]

UNIT 18
Reading
1 1 In a newspaper/magazine
2 To describe his experience / encourage people to

go there / advertise the trip
3 Favourable

3 160 million years
7 blue ice

2 1 Sydney 2 (four) specialists
4 north-south 5 6km 6 base
8 penguins 9 unforgettable
10 November to February 11 passport
12 (commemorative) certificate

Vocabliléry |

3 backpacker, tourist, sightseeing, travel agent,
traveller, cruise, abroad, book, hotel, destination

ONBlAlc|k[P[A[C[K[E][R)(A)
/T\EREQQS\UKGDSB
R|[ TSI [(HNNYONM | X [(C) B ||R
Al Z | SRTXXYNONNYONB |[R|| C ||O
VREIIUTT@UMA
E|| S| D|V|BYNYLYENA [[T||W|D
LTECBRAU@SED
LICT]OJU|[R[T[SY\IAK|EJ)| F|G
E|O[E|R|U|Q|E|RYNINN|V|C
RJW|G|F|K|U|O|E|HN\O\D|H
E|{(S|IT|G|H|T|S|E|E|IYXNY)Q
(T|R|A[V][E|L|A[G|E|N|D|C
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4
' Accommodation | Health

cabin malaria pills cash

caravan sunscreen exchange rate

self-catering travel-sickness | notes

apartment pills

tent vaccination traveller’s cheques
Grammar

5 1 come up with a solution / an answer
2 put up with them 3 makingitout ¢
4 setitup 5 took it over a
6 look / am/’m looking forward to meeting/seeing

UNITig =
Reading

1 1 versatile 2 backward* / sideways
3 sideways / backward* 4 hover 5 rotate
*Note that backwards is also possible in British
English.

2 1 cockpit 2 drive shaft 3 main rotor
4 tailboom 5 tail rotor 6 landing skid(s)

6 lift

Grammar

3 1 Iwish creative artists didn’t do this.
2 T'd rather we drove in my car.
3 I think it is time we discussed this problem.
4 [ wish you would give me half my pay before the
weekend, but I don’t suppose you will.
correct
6 It is about time students, families and society all
realised there is a problem and recognised their
own responsibilities!
7 Itis high time the government paid women who
stay at home to look after their children.

W

Vocabulary

4 1 ease 2 congestion 3 seats 4 capacity
5 linked 6 accessible 7 elevated
8 conventional 9 reliable 10 damage
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IT 20
ding

FALSE — Everyone who receives any income .

needs a Tax File Number. Income includes wages
or salary from a job, money earned from
investments, and government payments.

FALSE — ... help with the cost of out-of-hospital
care and subsidised medicines. '
TRUE - If you need to see a doctor urgently, you can
register with Medicare without waiting ten days.
NOT GIVEN - This booklet is available from
Medicare offices (There is no mention of any cost.)
NOT GIVEN - People in Australia usually keep their
money in a bank, building society or credit union.
(There is no indication of whether banks are used
more than building societies and credit unions.)
TRUE - It is advisable to open a bank account
within six weeks of your arrival, as during this
time you usually need only your passport as
identification. After six weeks, you will need
additional identification to open an account.
TRUE - to get help with ... having overseas skills
recognised

NOT GIVEN - There is no mention of
Centrelink lending money.

FALSE — As a new resident, you may be entitled to
receive free English language tuition

TRUE — Licences from some overseas countries do
not require a practical test.

2 1 telephone book 2 benefits and payments
3 application 4 510 hours 5 three months
6 knowledge; eyesight o S

Voc

abulary

31d 2¢e 3b 41 5f 6a 7h 8¢

1 1 shouldn’t 2 justover 3 unacceptable
4 should 5 should 6 can 7 good

8
2 a

Make sure you use

Problems with the example letter:

1 There shouldn’t be an address.

2 Itis too long.

3 It needs to begin ‘Dear Sir’

4 Some of the grammar is wrong. The spelling is

correct.

It needs paragraphing.

It needs to end with “Yours faithfully’ as it is a

formal letter.

7 ‘Tam looking forward to -ing from you’ would
be a good ending.

8 The letter includes some inappropriately
informal language.

[« W)

b Suggested answer (Note it has been shortened to
just over 150 words.) e
Dear 1 Sir,

I am writing to 2 complain about two large dogs
that run in 3 the park every evening. The owner of
4 the dogs, a young man, releases them to play in
5 the park, but I think it is 6 very dangerous 7 for
people and animals to share this park. This has
been happening 8 for the last two weeks.

The most dangerous thing is that the dogs bark
very loudly and 9 run towards people so that they
10 frighten them, especially small 11 children.

In fact, some people, including myself, 12 have
attempted to talk with the 13 dogs’ owner, but he
seems to ignore what we say.

As a 14 mother 15 with/of two children, I am
naturally worried about their safety. I am sending
this letter 16 as a representative of a concerned
group of park users. The owner needs to be told
to keep his dogs on a leash so that people don’t
feel 17 scared. I am 18 looking forward to

19 hearing from you. 20 Yours faithfully,

(159 words)

3 a You want to sell your bicycle. You think a friend of
yours might like to buy it from you.
Write a letter to your friend. In your letter
® explain why you are sellin
® describe the bicycle
® suggest a date when your friend can come and
see the bicycle
Write at least 150 words.
b 1 ship 2 wondering 3 brand new

4 serviced / looked at 5 very good condition

6 include 7 make 8 come round

1 I'll be going home at the end of term and I've
decided that I need to sell my bicycle — it would
cost me too much to ship it home to Manila.

2 It’s a mountain bike ... green and black with a
silver stripe.

3 I was wondering if you might be interested in
buying it. / Why don’t you come round and
have a look sometime? What about next
Saturday morning when we don’t have lectures?

4 I 'm writing to ask you for a six-month period of
leave. 'm very much interested in computers, but
unfortunately I have poor computer skills. Last week,
[ saw an advertisement for a computer course on the
TV. Though the university is in a different province,
it is very famous, and the enrolment fee is not
expensive. So I want to attend the course. There I can
acquire a lot of knowledge about computers and
software. The course begins the day after tomorrow.
When I finish the course, I will return to my job.

51e 2b 3a 4¢c 5d 6f

ANSWER KEY f_
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6 Suggested answer

Dear Robert,

I was very pleased to hear that you will be studying
at the same college as me. You ask me about
accommodation. There are two main choices of
accommodation in the town. First of all, there are
hostels which are run by the college. These are not
expensive, but the study bedrooms are quite small —
just a single bed, a wardrobe, desk and chair. There
is a shared kitchen and bathroom on each floor. If
were you, I'd try to find a shared flat in the town. It
will be about the same price, but you would have a
bigger room. There are lots of notices at the college,
offering flats to share.

The best thing about the college is the new
computer centre. It’s huge and has the most up-to-
date technology. When you arrive here, give me a
ring, and T’ll take you on a guided tour of both the
~ college and the town.

- Best wishes o

(156 words) -

WRITING WORKOUT 2

2 Essay A would achieve higher marks.

1 Only essay A answers the question. Essay B
mentions all five jobs without discussing three in
detail. B has no real introduction, but goes
straight into the topic. B has a confused line of
argument and gets progressively more muddled.

2 Both are paragraphed, but only A has an organised
argument with clear introduction, examples and
reasons and a conclusion. B discusses computer
programming in paragraph 1, why being a doctor is
more important than being a teacher in paragraph
2, why engineers and journalists are not important
in paragraph 3 and why the writer wants to be a
computer programmer in the conclusion. There is
no mention of three professions which the writer
thinks are the most important to society today and
no real conclusion. There is quite a bit of irrelevancy.

3 A has clear examples of knowledge/own
experience for all three jobs.

B has a clear example for a doctor and a computer
programmer.

4 A has some repetition of vocabulary — important —
but both have some good, relevant vocabulary:

A well-being, reliant on, have access to, pass
knowledge down to
B computer literate, output, respected professional

5 Both A and B have complex sentences, for example:

A Without the journalists who investigated the
Watergate affair, for example, we would never
have found out about what Nixon had been doing.

B Having respect from society is very important,
because if your job is valued, then you feel
yourself to be valued as well.

76 ANSWER KEY

3 Suggested answer

Introduction: choose doctor, teacher and journalist;
give basic opinion

Paragraph 1: discuss doctor, personal
experience/knowledge

Paragraph 2: discuss teacher, personal 5
experience/knowledge

Paragraph 3: discuss journalist, personal
experience/knowledge

Conclusion: restate opinion

1 The first thing to consider when discussing X is ...
There is no doubt that ...
One of the main arguments put forward for Xis...
Although some people Say/beheve that ..
believe that .. :
2 Ithink that ...
In my opinion ...
Personally, 1 believe ... ,
It is clear/obvious to me that ...
3 Next...
The second thing I would like to say is that ...
The next most important point is ...
4 An illustration of this is ...
For instance ...
An example of this is ...
5 Tosumup ...
I would like to conclude by saying ...
Finally ...
6 vital, essential, significant, critical, crucial

Suggested answer

Should children be allowed to work? That is a good
question. I believe it depends on the age of the child
and the type of work that it is asked to do. Broadly
speaking, I think that children under the age of 14
should not be allowed to work, but from that age on,
it is permissible if it is regulated.

First of all, children need to learn about the
workplace and the pressures that they will face when
they finish school. Secondly, children need to
understand the relationship between work and
money at a fairly young age. Unless they are from a
very rich family, they will need to work.

One way that many children are introduced to work
in my country is by way of a newspaper round or a
Saturday job. Another example of how children can
be introduced to the world of work is by having
work experience weeks at their school. This can be a
very valuable experience as they need to get up early,
travel to work, deal with people and, possibly,
endure total boredom.

Finally, although I believe that children should find
out about work when they are teenagers, [ am totally
against children younger than 12 working. Children
need to go to school and they also need to have time
to play and grow.
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To sum up, I believe that when children reach a certain
age, it is important that they get a job. It is part of
growing up — of learning to be a responsible adult.

Suggested plan
Introduction:  Give personal opinion;
agree/disagree or give a balanced
opinion
Discuss importance of music and
art and give examples from own
experience or knowledge
Paragraphs 2/3: Discuss importance of mathematics
" and foreign languages and give
" examples from own experience and
knowledge
Conclusion: Restate opinion/clarify opinion
Suggested answer
There is no doubt that some subjects that are
studied at school are felt to be a waste of time when
it comes to getting a good job. Among those subjects
which often find themselves in this category are
music and art. However, I personally believe that
students should study a large number of subjects, so
that they can make a good decision about their
future when they leave school — not everyone is
good at mathematics or foreign languages. ’

Paragraph 1:

Firstly, although many employers today would be
looking for someone with a mathematics or a foreign
language qualification, I believe that they would also
be keen to have someone who knows about art or
music. It is good for a child to have an interest in and
knowledge about the culture of his or her country. In
addition, art and music are essential in helping a
child to learn how to express his or herself, and this is
a quality that is important in the workplace.

Much depends on what type of job you are applying
for. After all, what is a good job? Is it a job which
pays well or gives you security? For some people, the
salary is not a consideration. It may be easier to find
a job where mathematics and a foreign language are
important, but there are still jobs, such as in TV,
museums and teaching, where art or music would be
more appropriate.

In conclusion, I believe that students should study a
wide curriculum in order to be able to make an
informed decision when they are thinking of a career.
(267 words)

WRITING WORKOUT 3

1 Your answer should include the following: 1, 3,4, 6, 8

2 1 Inappropriate: not accurate information

2 Inappropriate: not accurate information +
speculation
3 Appropriate

4 Inappropriate: personal opinion

Appropriate

Inappropriate: not accurate information
Appropriate

Inappropriate: do not mention every figure — the
important thing is to select information showing
the main trends

0NN

period 2 accounted 3 whereas 4 showed
reaching 6 followed 7 least 8 change
9 rose 10 fell

1 From this chart / these charts, we can find out
about the difference in spending between the UK
and the USA.

2 The middle chart i shows us the increase in
money spent in developing countries.

3 The chart describes the amount spent.

4 Britain spent the highest amount on consumer
goods.

5 The third most popular goods were toys.

6 Nearly the same amount was spent on personal
stereos as on TVs.

7 The most popular consumer item was the
camera and the least was the personal stereo.

8 The majority of people spent most on films.

9 The graph shows that the electricity use in

" winter was/is much greater than in summer.

10 The use of electricity is shown in a pie chart.

11 The number of units decreases/decreased sharply.

12 Several figures are increasing.

13 The demand for electricity then declines/
declined until 0800.

14 There is a difference of 5.2 between the figures.

15 Its clear that unemployment has decreased.

%) I

Suggested answer

According to the graph, the number of households
who owned more than one car rose during the period
1972 to 2002. During this period, there was a sharp
drop in the numbers of households without a car or
van. Numbers who owned one car or van remained
steady, and there was a gradual rise in ownership of
two cars. By 2002, 45% of households owned one car
or van, 22% owned two or more, and 5% owned
three or more, with 28% without either a car or a van.

In 2002, the majority of people — 69.6% and above —
in the United Kingdom travelled to work by car, with
people in Wales and Northern Ireland more likely to
do so than people in England or Scotland. In all parts
of the United Kingdom, the car was the most popular
method, followed by walking, then the bus or coach
and finally the train. Few people — less than 3% —
used a bicycle or motorbike to get to work.

(165 words)

ANSWER KEY F‘
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One idiom used well is fine, but not a large
number.

Contractions are not normally found in formal
writing.

Colloquial language / slang is best used in spoken
English.

Aggressive opinions are not part of a balanced,
well-structured essay.

Write in full rather than abbreviating.

d (gas guzzlers)

¢ (didn’t) and possibly e

c (We'll), a/d (freezing to death) and possibly e
f(eg)

¢ (haven’t) and d (haven’t a clue about)

a (once in a blue moon) and possibly e

¢ (It’s) and d (really great)

d (have a get-together)

d People insist on driving cars which use a great
deal of fuel.

f It can be argued that the reason global
warming is getting worse is because some
countries did not sign the Kyoto agreement.

e We will soon all be suffering from intense cold
if the Gulf Stream changes direction.

¢ We should take advantage of the availability of
free resources such as wave and wind power.

b Some people have little idea about the
consequences of carbon emissions.

h It is no good going by bicycle occasionally; you
need to be properly committed to alternative
transport.

a It is clearly beneficial that the media are giving
this problem so much coverage.

g Governments should have high-level
discussions about the problems we face.

repeatedly/heavily/inevitably
wildly/seriously :
clearly

clearly/repeatedly
dramatically
clearly/inevitably/seriously
densely/heavily
clearly/inevitably
clearly/inevitably/repeatedly
repeatedly

S OO U W N

5 A There is no doubt that the Earth is beginning to

suffer the consequences of pollution. People should
make more of an effort to recycle and to use public
transport. Also to use different sources of energy.
This introduction doesn’t address the question
directly, although the first sentence is acceptable.
The last sentence seems rather an after-thought. 3/5

m ANSWER KEY
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- B It has been suggested in recent months that the

government is not doing enough to promote
alternative sources of energy. My personal opinion is
that they should promote alternative sources of energy.
Repetition of the essay title doesn’t gain marks. 2/5

C It has been known for some time now that a move
towards sources of energy which are not carbon-
based is urgently required to stop the effects of
global warming. In my view, there are too few
governments who seem to be promoting the use of
other types of energy — from wind, wave, solar and
nuclear sources.
A good introduction to the essay. Clear and to the
point. 5/5

D First of all, I would like to say that this is a subject
that is often discussed. Something needs to change
and change quickly. I am in favour of wind power,
and indeed in my country we use it a lot.
Very vague and does not address the question
very well. 2/5

Suggested answer RRRE A

It has been known for some time now that a move
towards sources of energy which are not carbon-
based is urgently required to stop the effects of
global warming. In my view, there are too few
governments who seem to be promoting the use of
other types of energy such as wind, wave, solar and
nuclear sources of energy.

Governments at present are too reliant on coal, oil
and gas. Although some governments are doing
research into the use of alternative energy sources,
many are not. Energy from the wind, the sea and the
sun does not pollute the environment and is an
everlasting source of power. Nuclear power is clean,
and although it is not totally unproblematic, it would
provide a large amount of energy and dramatically
improve the environment. Countries such as France
have made good use of nuclear power.

My feeling is that more use could be made of wind
power. In some countries, there has been a
reluctance to use wind turbines, even in areas which
are not densely populated, as some people believe
they are eyesores. Personally, I believe they are not
only useful, but beautiful as well. Governments
should spend more time and effort promoting the
benefits of this source of energy and trying to make
the public understand the reasons for change.

In conclusion, I believe that, if governments forced
everyone to have a wind turbine and solar panels on
the building they lived in, made more use of wave
power and built more nuclear power stations, then
they would manage to avert the dangers that are
seriously threatening the Earth.

(268 words)
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WRITING WORKOUT 5

1 1 In my opinion 2 Unfortunately 3 because
4 There is no doubt that 5 However 6 because
7 or 8 Although 9 especially 10 Another
11 Tosumup 12 Consequently

2 1 The class spent all yesterday practising for the
marathon. (NB practicing is correct in US
English)

2 Take my advice, choose a sport Wthh is less
© competitive than tennis. o
3 Salaries of sportsmen and women have risen
considerably in the last few years.
4 The team will lose next Saturday. S
5 The football pitch was too hard to play on. -
6 The total number of people who support = **
football in this town exceeds 100,000.
7 You need a coach to give you the skills you need
to succeed at this sport.
8 Most coaches do more harm than good when it
comes to training. A ,
9 The standard of living in some countries is very
low.
10 My personal belief/opinion is that sport plays an
important part in daily life.
11 You will have the opportunity/chance to speak
to him later.
12 Some sportsmen and women earn a good
income/living from their sport.
13 I saw an advertisement for the Olympics last
week on TV.
14 The most popular consumer item/product is the
trainer.
15 The study of computers should begin at school.
16 She studied in an English-speaking
environment.
17 The least popular (household) task/chore is
washing the windows.
18 She took a part-time job at the local sports
centre.
19 I hope you have a good journey/trip to the
competition.
20 Young people today love athletics.
21 Where do you buy your clothes?
22 Don’t touch the keys of the computer.
23 T have no choice in the matter.
24 There are quite a few sports activities available
at the centre.

3 1 I'm really grateful for everything they did for me

at college.

2 During the period between 1989 and 2001,
public services declined.

3 My brother is responsible for training in the
company.

4 The government will prevent people from
getting jobs without a work permit.

I haven’t seen you for a long time.
The goods won’t arrive here until the weekend.
7 The magazine is the least effective medium for
communicating news.
8 There is a high demand for electricity in the
evenings.
9 During the Olympics in Greece, everything ran
smoothly.
~ 10 There was an advertisement for/about a job at a
local restaurant in the paper.
- 11 Learning about computers should be compulsory
at/in primary school.
12 T look forward to hearing from you soon.

4 4,8,3,7,1,11,5,2,16, 13, 14, 12,9, 6, 10, 15
The computer is an important invention and it has
had a huge impact on our lives. We use computers at
work, in the home, to pay our bills, to buy books or to
plan our holidays. We have dealings with a computer
every day whether we know we are doing so or not.
However, although there are undoubted benefits to
the use of computers, there are also some drawbacks.
In the first place, everybody knows that the banks use
computers to process transactions. All our accounts
are computerised, with the result that, if something
goes wrong, our savings could be deleted. Not only
that, people who bank online are more likely to have
their accounts hacked into illegally.

A O

READING MODULE

Each question correctly answered scores 1 mark.
CORRECT SPELLING NEEDED IN ALL ANSWERS.

Reading passage 1

Questions 1-13

1 F A succession of other voyages ... to India and Sri
Lanka, to ... Hormuz on the Persian Gulf, and along
the east coast of Africa, almost as far south as
Mozambique.

2 D The fleet used the compass ... Marked sticks of
incense were burned to measure time ... The ships ...
communicated with one another through the use of
flags, lanterns, bells, carrier pigeons, gongs and
banners.

3 ] It seems likely that a detachment ... sailed to
northern Australia during one of the seven voyages.

4 C The first Treasure Fleet comprised 62 ships ...
included 100-metre-long horse ships ... water ships

.. troop transports, supply ships and war ships

5 E The following spring, the seasonal change in
direction of the monsoon winds enabled the ships to
sail towards home.
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6 goods S B 32 NOT GIVEN - The article says there are
7 latitude ' e e mathematical geniuses and chess-playing geniuses,
8 trading centre/center N : but does not mention any link between them.
9 pirates Lo , 33 YES — ... we do not in general utter noises as an
10 G Zhu Di ... ordered him to oversee the construction activity separate from other activities.
of a Treasure Fleet to explore the seas surrounding 34 laugh
China. 35 tools .
11 ¥ During each of Zheng He’s voyages, he encouraged 36 sequences
diplomats from other countries to travel to China, 37 stimuli
either aboard his ships or on their own vessels. 38 C ... Herbert Read once remarked, ‘no difference
12 C ... Zhu Gaozhi ... ordered shipbuilders and sailors . between man and beast is more important than
to stop their work and return home. syntax’
13 E Zhu Zhanji ... restarted the Treasure Fleet voyages 39 A To see how truly remarkable language is, we must,
... in an attempt to restore peaceful relations with as the psychologist Wolfgang Kéhler put it, retreat

the kingdoms of Malacca and Siam. to a ‘psychic distance’ from the subject.
. 40 E ... those followers of the French philosopher René

: Descartes who found it impossible to suppose that
Readlng passage 2 S - ... animals could be capable of any mental activity. If
Ques.t'i'ons 14-27 o L R beasts reasoned, said one of them, ‘they would be
}‘51 VI e e e -« capable of true speech with its infinite variety.

i : S

16 x
17 iv
18 ix : ' - Ll ,
9v R o
20-22 IN ANY ORDER T ‘

A, B, G
23 contact
24 disease
25 food
26 nurse
27 C

Reading passage 3

Questions 28-40

28 NO — uncover the enormously complicated rules of
grammar which underlie our languages, and they still
have a long way to go.

29 YES - all known communities have possessed
sophisticated languages

30 NO — Many animals, of course, are capable of
producing noises ... but these noises are so different in
kind from human speech that it is, at best, a
misleading analogy to speak of such noises being part
of a language.

31 YES - ... animals produce their noises in direct
response to stimuli in their environment ... Such noises
are analogous to human cries of pain or alarm ...
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